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General Instructions :

(1) The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(i1) All questions are compulsory.

(1it) There is no choice in any of the questions.

(tv) All questions of Section A and all questions of Section B are to be attempted
separately.

(v) Question numbers 1 to 3 in Section A are one mark questions. These are to be
answered in one word or in one sentence.

(i) Question numbers 4 to 6 in Section A are two marks questions. These are to be
answered in about 30 words each.

(vit) Question numbers 7 to 18 in Section A are three marks questions. These are to be
answered in about 50 words each.

(viit) Question numbers 19 to 24 in Section A are five marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two marks questions based on practical
skills. They are to be answered in brief.

31(B) 2



HIT - H

SECTION - A

1. 39 Rt Ataferan &1 M fafeae e Swam steqw aqsti w1
Haw e # uitafda w@ o fwan < g1

Name the chemical reaction used to change unsaturated fats to
saturated fats.

2. T URH H G TARY S HIIh FAHT GRS HA ¢ | 1

List two plants which reproduce by vegetative propagation.

3. I MR S@el 4R, Ao, fog), 7 oK qiq § faore o+ 31 soff dgh 1
o1 3faa 9ISt &Ryt sife |

In the food chain consisting of peacock, frog, grasshopper, grass
and snake, assign an appropriate trophic level to frog.

4. fg@ved 3R @ved & o9 < fode it @el &f g aifce & ®4 H 2
SR

List two distinguishing, feature in tabular form between binary
fission and fragmentation.
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5. U S % WUGUl i SETAHAT i G ST HRUT GhT HIToIT | 2

Give two reasons to justify the necessity of rainwater harvesting.

6. 7 TN 3Tedi H UiEdHl o Sl HITST ek N1 kg «ff =afeq i 2

arfirer TarfaRor feqwt s Hehat T

List four changes one can make in his/her habits to become more
environment friendly.

7. ' HCEATHs HHEel | | o deqd 8 7 %o S ok 9e (CoHg) 3H 3
eI0T 1 I &l T Fehal| A (C,H, ) % & WHIed HHEFel whi
TEAE ST |

»

What is meant by “structural isomers” ? Give reason why
propane (CgHg) cannot exhibit this characteristic. Draw the

structures of possible isomers of butane (C,H,).

o

8. TWIAIA 9 FMHfaARgd &l Ui &id o TEEe THiaR fafay 3

() TAH

(ii) TARA TIATTE

(iii) HIfeaq TATFAES
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Write chemical equations to show how the following may be
obtained from ethanol :

(1) Ethene
(11) Ethyl ethanoate

(111) Sodium ethoxide

9. o d@l X, Y AR Z I AT &N %A 11, 15 AR 171 30 T9& 3
1 SR fo=a9 fargsdt 9 fou T 9991 & SW SN :

() 3 I forg 3mad & He=g § I i ?

(i) T Y T IE & 1T ?

(iii) ‘X’ 3R 2’ & FIM ¥ 54 Al 1 g fafae |

The atomic numbers of three elements X, Y and Z are 11, 15 and
17 respectively. Write the electronic configuration of each of the
elements and answer the following questions :

(1) Which period do these elements belong to and why ?

(11) What is the group number of the element Y’ ?

(111) Write the formula of the compound formed by the
combination of X’ and Z’.

31(B) 5 P.T.O.



10.

11.

12.

13.

ST 3TEd IR H T ohfoda™ (TXHTY] &A= 20) & IR SR TLH]
&A1 12, 19, 21 27X 38 It Icd fXord €1 3780 9 &hi9-9 dc o TG
ToTed Shfeway & Ul & THF €, IR Fi 7 W a Hl 9gdg 5l
Hfeaem &1 qor # 2ifuss anfeas §

In the Modern Periodic Table, the element calcium (atomic
number = 20) is surrounded by elements with atomic number 12,
19, 21 and 38. Which of these elements have chemical properties
resembling calcium and why ? Identify the element which is more
metallic as compared to calcium.

ELTA.T, idpfd ¥ &1 a9 €7 91 Hed farEu |

What is meant by DNA copying ? State its importance.

T3S o g fohd YR SIH il 8 7 Ha § = Hifae | Hepor
1 S T ereifiTen fafy Ff wed € 2

How does Hydra reproduce by budding ? Explain briefly. Why
1s budding called an asexual method of reproduction ?

ToT <kt gfereT fafEn | T 3R e § fades wifsw ) e
Syt o0 | | M T 9 R Jhe &1 82 W off I8 T0 Tl 3cdel
FL AT IS fHT YR B § 2
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Define pollination. Distinguish between self pollination and
cross pollination. In a bisexual flower inspite of the young
stamen being removed artificially, the flower produces fruit. How
does it take place ?

14. fafimam s €2 ifite S99 g dafa & fafieae f&a gor o= et 3
g2 9 o © W& <ol hed | wga | syt fafiea died 8 S § 2

What are variations ? How does sexual reproduction brings about
variations in the offsprings ? What happens when many useful
variations get accumulated over a long time ?

o

15. Td%h 1 Th-Tdh IR0 <hi 3eei@ hitse T FAfafeg fag gwr 3

Sttal o fasm@ & THeA § JHO TR F ©

Q) SaRE

(i) GHSE 3

(iii) THEY (FHT) AT

Giving one example for each, state how the following provide
evidences in favour of evolution in organisms :

(1) Fossils
(1) Homologous organs

(111) Analogous organs
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16. 1g T 15 cm TIkd g o frdt stardal gdur & 9 1= &) it gfal 3
TR @I

(1) 10 cm (1) 20 cm
(111) 30 cm (iv) 40 cm

T § HRU T FHd gC % T gl e fSad fams o1 = fow 1w
sTfrareToll o1 gfafers g @ ¢

(a) +2 W o1 Taeq 1 Hien yidfers

(b) faafifa seer wfafars

o~

) —1 YT H AT Fidio

An object is placed in front of a concave mirror of focal length
15 cm at the following distances from the mirror :

(1 10 cm (1) 20 cm
(111) 30 cm (iv) 40 cm

Select the object - distance, stating reason, to obtain image of the
following characteristics :

(a) An erect image of magnification more than +2
(b) An enlarged inverted image

(c) A real image of magnification —1

31(B) 8



17. YohT¥1 o YohiUA § A1 Ac9d & 7 37 IR Uihfdeh IRereistl ! gt ey 3
fSTTeh! ST YahT¥T & YahIUH o STTYR T hi STt B

What is meant by scattering of light ? List four phenomena

occurring in nature which are explained on the basis of scattering
of light.

18. T gdenedi & uvard 9o 3 A9 95 & 91 Tk NeIfier g/ k1 3
3TRISH 29 ¥d W foren gk gfawrft s1aet ue o1 e o 519
goft sfent @it | fafis geie Tl &1 990 39 % 9991d, 9 T Tk
H Tohd g SR ¥ISH *1 AF< faan| e & T qfavrt 9t s=-g=
qoH, T2 HW AT =i, fawmml, S onfe =1 T i 5% 9 &
fRel S | STelhs T A1 =edl 911 L of a1 39 U AR [l
A @ o8 e foan foh 3 sa-ga Oy ueielf, wal & S &
AR i Tl 9 ST i 3R ST i 99T 3= 0T § Wl &% 37
it T 1 = Ufedi | 2l |

() ¥ HMCUE 1 Ieci@ Hi 8! g0 T2 FH AT Wt i
Yeh-Jfeh el Uiedl § S | Y Y 7377 hid FH HH:
ST & 7

(ii) BT T R AT (AURME) ISl 1 JYH-JUHh H{A &, TR
I gfe |, <1 A1l I P TR

(iii) e R I <1 ool i F SAET |
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After the terminal examinations, Naveen along with his
classmates organised an excursion with an understanding that
each one will bring lunch of his/her choice to share with others.
After visiting different spots, they assembled in a park and
enjoyed lunch. Very soon one of the participants wanted to
collect the leftover food, disposable plates, carry bags etc. and
dispose them off by burning them in one of the corners of the
park. Naveen immediately checked and requested all the
participants to segregate the leftover food items and peels of the
fruits from the plastic materials and dispose them off separately
in the green and blue dustbins placed in the park instead of
burning them.

(1) State the criteria generally followed while segregating the
waste for disposing in two separate dustbins.

(11) List two advantages of segregating household waste from the
environmental point of view.

(111) List two values exhibited by Naveen.

N N lad

19. (a) TESHEA T2 37 Q& a1 S YT IARY 4 ¢ avficha el T
Hehal B |

(b) Tk, TehiA 3R Tehlzd M € 7 TAF 1 Teh fadgThRl T8I0l
fafau |

(a) What are hydrocarbons ? List two categories in which these
compounds may be classified.

(b) What are alkanes, alkenes and alkynes ? Write one
distinguishing feature of each.

31(B) 10



20. Y4 HE S99 97 & A9 e T g 9 & § s fafeu 5

(i) STUERM (i) HeEE = (iii) THRE
ITAE HITST AT & IR | U7 o JhR dIo07 Yred har & 2

List two functions each of the following parts in human female
reproductive system :

(1) Ovary ; (1) Oviduct ; (111) Uterus

Explain how the embryo gets its nourishment inside the mother’s
body ?

21. Hed & FAM ¥ I8 hY F0q g3 T : 5
(i) IRTOT YIS} ST TS B § 2
(ii) IO T €9 9 IIMTE B € ?
How do Mendel’s experiment show the following :

(1) Traits may be dominant or recessive ?

(11) Traits are inherited independently ?

22. TRl B A 3Tade YT T IUAN Fleh Uo W HHERT ohi SATeAl ] Bk D
F foan 1 feafa = fou sqar ©

ST &l @R =2 cm
SYUT 1 Hihd =14 cm
STl i 790 9§ =21 cm
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Ife SaTel T & Y& AN & dEad §, d Tefarad s I
HIfT :

() U IS H

(i) 9¢ W o1 Yfafers =1 ovarg

Ife YU AR ST & o= HT U TR 28 cm FR T S, 1 o
el I SN 39 Yidfarrs o1 WIES R BN 7 ST IR 1 KRN Higd
qfte hifsiT |

A student has focussed the image of a candle flame on a screen
using a concave mirror. The situation is as given below

Length of the flame=2 cm
Focal length of the mirror=14 cm
Distance of the flame from the mirror=21 cm

If the flame 1s perpendicular to the principal axis of the mirror,
calculate the following :

(1) distance of the screen from the mirror,
(1) length of the image formed on the screen.
If the distance between the mirror and the flame is increased to

28 cm, where would the image be formed and what would be its
size ? Give reason to justify your answer.

31(B) 12



23.

24.

31(B) 13 P.T.O.

o

(1) TR o TUadd O F1 aeqd § 2 39eh 1 fram fafeu

(i) ToTT A ¥ TR H JO9 L g1 TR 1 U Tuacie 2.42 Tl
e 9T H Y11 1 91 3 X 108 m/s T, 1 BIX H Y1 &1 9Ta 91
it |

(1) What is meant by refraction of light ? State its two laws.

(11) Light enters from air into diamond which has a absolute
refractive index of 2.42. If the speed of light in air is
3x 108 m/s, find the speed of light in diamond.

M °4 o A9 ST TT Y& 9T 1 & fafa :

() WeoHed (HIHAT) (i) TRaTeR

(iii) gdeil (iv) gfteqea ()

FI2 et a&g3tl 1 haat adft T €Y Y <@ U, T F 396 7 9
60 cm ¥ 10 m T o o= W@ Bl & | 39 g I &1 M farae o™

I8 Afad Nifed 81 ST 9 & TR F Seoid wifw gt ST 9
Zfed o gfe-9RER &1 25 cm ¥ =1 % 9@ § fhaT S Hehell B |

State the function of each of the following parts of the human

eye :
(1) Cornea (1) Iris
(111) Pupil (iv) Retina

A person is able to see objects distinctly only when they are lying
between 60 cm and 10 m from his eyes. Name the defect of vision
he is suffering from. State the type of lenses that may be used
to increase the range of vision of the person from 25 cm to
infinity.



HAT - o

SECTION - B

25. TR STfufehan e & avad fordlt B 3 ora foaeny o1 sl stfufsran
fagor 9 geen | 1= fow Tu Geron/fensi § @ @@t ey g

(a)

(b)
©
(d)

srfufsran fagm e €, i I8 faemq v & 1 § gftedq 72
L |

arfuferan fagor e 8, Fife a8 o faeuyg =t e & a1 21

arfufsran fagor orefia €, ife a8 ot foremg =1 e &2 <an § |

arfufsran fagor srefta €, Fife 9 foema o= & & o afteds =&
HT |

After performing saponification reaction, a student dipped a strip

of red litmus paper in the reaction mixture. Select from the

following the correct observation/conclusion :

()

(b)
©

(d)

31(B)

The reaction mixture is basic as it does not change the colour
of the litmus paper.

The reaction mixture is basic as it changes red litmus to blue.

The reaction mixture is acidic as it changes red litmus to
blue.

The reaction mixture is acidic as it does not change the
colour of the litmus paper.

14



26. HIATRT TfUfoRaT 1 e & & fau fodt wadl # wifegw 1
ESIaSS &1 oAl H 20% faeras 99/ T 399 gafyq =i fqu e
FHYF W fo=aR HifT :

N ~

[. 9SIH TRGIHEE S T dehT RNESIGI %l

AN o

1. Gifeay TEeiEe ol faeaq &l o 1 <l §1

I11. 9 % R faaea 9 v WEael T Jdid 2l © |

IV. T@clt i doil § g HAIUT o3 Sal ¢ |

T’lﬁ '{T@ eI ¥
(a) I, IT 3 111 (b) TI, III 3R IV
© L III 3R IV () T 3 111 Fad

To study saponification reaction 20% sodium hydroxide solution
in water was prepared in a test tube. Consider the following
observations related to this :

I. Sodium hydroxide readily dissolves in water.

II. Sodium hydroxide solution turns blue litmus to red.

III. The test tube containing solution appears hot when touched.
IV. A white precipitate settles at the bottom of the test tube.
The correct observations are :

(a) I, IT and III (b) II, IIT and IV

(c) I, IIT and IV (d) I and III only

31(B) 15 P.T.O.



217.

28.

Fis B IR WEAte I, 11, 111 3R IV R 9% § 5 mL 3AHd 5id
AT & | AT 98 99 A7 H# 9R fafys @9 S I H NaCl, I1H
KCl, IIT # CaCl, 941 IV § MgCl, fHefrdl €1 3He Iea1d 98 Yo
@ H HIeA o faerdd & TH7 i THH A fHeAh 8 q@Tell

T -eR fecarar 81 fora qr@Aferal § 39 1! 9ren § o fe@re <0 2

(a) had [ AR 11 (b) had III 3R IV
© had I AR 111 (d) T, IT 3R 111

A student takes 5 mL of distilled water in each of the four test
tubes I, II, IIT and IV and then dissolves an equal amount of four
different salts, namely, NaCl in I, KCI in II, CaCl, in III and
MgCl, in IV. He then adds one spoon full of a sample of soap
solution to each test tube and shakes the contents of the test tube
equally. In which test tubes will enough foam (lather) be

formed :
(a) Only I and II (b) Only III and IV
(¢) Only I and III (d) I, II and III

fqU 7T oferaer YT T RihE g T H h foRdt TAN H, Y07 HX W
iR T 3R 3T #3 The o M| W R off 39 B 7 U & THh
Ihe ° WAN fhar| T & 9 THhe R o1 Ffafaes :

(a) IS ot Gt frarfae W yeen femE a1 1

(b) 3 & g o © TS X <99 R S ©

(¢ S frafd W awar § 99 W R 901 gRT o9 R

(d) W TYU Ft g B U F ThS & Afusw e I 2
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While performing an experiment to determine the focal length of
a given concave mirror, the mirror fell on the floor and broke into
many pieces. However, the student performed his experiment
with one of the pieces. The image formed by this piece of mirror
1S :

(a) blurred for all positions of the screen

(b) of same brightness as with the whole mirror

(c) at the same position as it would be with the whole mirror

(d) closer to the piece of mirror than of the whole mirror

29. U T IqA 9 il BlhE T T Hd T g S fohdlt ot fama w1 1
yidfers o W I a1 &1 fora o | 9 W A1 Yidfend g

(a) ST AR Fe (b) e IR de

(¢) Hiur 3R Bl (d) I 3 BT

A student while determining the focal length of the given convex
lens, obtains on the screen the image of a distant object. With
respect to the object the image formed on the screen will be :

(a) inverted and enlarged (b) erect and enlarged

(¢c) erect and diminished (d) inverted and diminished

31(B) 17 P.T.O.



30.

31.

FI B fafy@ U FIvll & fau AFaR &iF & %9 9 o aref
JeRTYT i TohT0T &1 9 ARMEd 1 & Y99I I8 Ul © T Uceh Tehaul

(a) £i> /v, W Le & (TT) GHAH T |

(b) i< sr, W Le & (THT) GHH T |

© > ze, T «r & (TAIT) FHE B |

d) i< ze, W £r o (ATHT) TUM & |

A student on tracing the path of a ray of light passing through a
rectangular glass slab for different angles of incidence would find
that in all cases :

(a) £ > zr but (nearly) equal to ze
(b) 21 < zr but (nearly) equal to ze
(c) 4 > e but (nearly) equal to sr

(d) 21 < ze but (nearly) equal to sr

id o TUSH 9@ oA arell Jerrel it Tohtor o1 9y efEd A &1 310
Fd A Treteh weied 3 Sl %l I8 WEe i f a8 weyym g e

R gsn 1 Il 991 3@ Gi9 | 399 Skl Ferdal faedt ©

(a) TUsH &1 9B 9@ A |
(b) STIGH IV Jd HH H
) foae™ =i 3d &3 o

() FEM & 999 s o forenfyd 81 w39 g9 36 fufd = g
AT & G §

31(B) 18
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While doing the experiment to trace the path of a ray of light
through a glass prism, students were advised by the subject
teacher to first draw the outer boundary of the prism on the
drawing sheet. This helps the students to :

(a) find out the size of the prism

(b) find out the angle of incidence

(¢) find out the angle of deviation

(d) readjust the prism to the same position in case it gets
displaced during the experiment.

32. gfesril @ 9 A0 § T <) T Hiesi © 1

e, MeR, i, o1rey, ToeEt, Tef, e < SR THRR

ST U AN o1 arelt of diestdl ©
() 37T 3R TR

(b) et IR MR

() T SR AR FH

(d) TSR AR et
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33.

A basket of vegetables contains the following :

Cauliflower, Carrot, Chilli, Potato, Okra, Radish, Sweet Potato
and Tomato

The two vegetables having homologous structures are :
(a) Potato and Tomato

(b) Cauliflower and Carrot

(¢c) Potato and Sweet Potato

(d) Carrot and Radish

frdt B ¥ 99 & oIS o YU 1 FEEE 6o U0 S kAT FwEl
T I 3Hk A wRT ! Jead & A < T g 9w

I. Wig 1. < < I11. 3T<: %d=
IV. HeAig V. SiSas

Y W& e MY 9 €

(a) I, IT 3R III (b) III, IV 3R V

© I,IV3IARV d) I, I, IV 3RV
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A student was asked to carefully observe and identify the various
parts of an embryo of a gram seed. He identified the parts and
listed them as under :

I. Plumule II. Testa III. Tegmen
IV. Radicle V. Cotyledon

The correctly identified parts among these are :

(a) I, II and III (b) III, IV and V

© I, IV and V ) T, 1L IV and V

34, THifcH 3T o TUIYHI H1 AT Hd 99T Rt B g0 Al fhy 2
frefafad Jemi W) fa=r i -

HH W& TuTerd J&IuT
1 |uHifes o &1 T
2 |uHifcw oI &l Y FE Y TR
3 | o ferera [EEE!
4 |Oiferw TS wEe § THifew [TEENT
T et oX gkt T
ST IR Y& F

(i) < GEl YT YgEIY, qe
(i) ST < YeT07 eI §, S= WEl i |

31(B) 21 P.T.O.



Consider the following observations as recorded by a student
while studying the property of acetic acid :

Sl. No. Property Observation
1 Colour of acetic acid Colourless
2 Adour of acetic acid No odour
3 Solubility in water Soluble
4 Gas evolved when acetic acid is added |Hydrogen
to sodium hydrogen carbonate

Out of the above four observations :

(1) 1dentify two correct observations, and

(11) correct the two incorrect observations.

35. YA 9 & 39 TR 1 ¥ fafgu {99 Tl S 9 1 gdfd 91
Bl § SR S o1 31fidca T B ST 81 9% fRY YR 81§, S9h!

TAT H ARSAT HIfST |

Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Explain briefly how this happens.

31(B) 22



36. TRdl B 7 TG WY hT STAN Flh Ue T HIHSN ki SITel ] faafedq 2
yfafars aT Y o7 81 3T 98 HIHe] i SOl il oF i 3T &R
1Y TR ¢ 3TN B IR 3T Jidfas Ie I Hihiad il ¢ |

() T IR Fiafera &l 9 W FRTd H & faC a8 7 ! ford fean o
TIHT € - T8 i AR Toar 18 F R ?

o

(i) Wfafers & TS 1 FA1 BT & — 98 9@l § 3T Fedl § 2

(i) IfE 9% S AHe! Sl STl Sl @ & AATHE Hehe o AW, 1 s
T I8 FAT Y& 4T ?

A student has focussed the magnified image of a candle flame on

the screen using a convex lens. Now he gradually moves the

candle flame towards the lens and each time focuses the image
on the screen.

(1) In which direction - towards or away from the lens, does he
move the screen each time to focus the flame ?

(1) What happen to the size of image - does it increase or
decrease ?

(111) What will he observe on the screen if he moves the candle
flame very close to the lens ?

31(B) 23



